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1. Bl (M

1. 1 @&JEEFE
1. 2 [KJEEHFE
2. EEHXH
2. 1 @EERE
2. 2 BB
2. 3 BEHEESR



ki B 3
REH EREE | BB | BR[| o | RAH
V) (Hz) (kVA)
SEERE gfgj 6,600 50 625 AT 368 6
EEERE gfgj 6,600 50 250 KT id 4
EEERE T4—EIL 6,600 50/60 500 B 17
EEERE T4—EIL 6,600 50/60 400 B 64
EEERE T4—EIL 6,600 50/60 500 B 65
EEERE T4—EIL 6,600 50/60 250 BXih 1
EEERE T1—EIL 6,600 60 500 BXih 1
EEERE T4—EIL 6,600 50/60 500 B 21
EEERE T4—EIL 6,600 50/60 300 B 40
EEERE T4—EIL 6,600 50/60 250/300 Bl 22
EEERE T1—EIL 6,600 60 300 Bl 1
EEERE T4—EIL 6,600 50/60 435/500 Bl 2
ESEERE T14—HEIL 6,600 50/60 | 1,000/1,000 B 3
EEERE T1—EIL 6,600 60 500 Bl 4
EEERE T4—EIL 6,600 50/60 500 B 35
EEERE T4—¥IL | 6,600/3,300 50/60 625 BXil 5
ESEERE T14—HEIL 6,600/3,300 50/60 1,000 B 2
EEERE T4—HIL | 6,600/3,300 60 500 B 1
EEERE T4—EIL 6,600 50/60 500 BXih 4
EEERE T4—¥IL | 6,600/3,300 50/60 300 BXih 4
EEERE T1—EIL 6,600 60 300 Bl 8
EEERE T4—EIL 6,600 50/60 300 B 19
ESEERE T14—EIL 6,600 50/60 250/300 B 25
EEERE T4—EIL 6,600 60 500 BXih 29
EEERE T4—EIL 6,600 50/60 500 B 22
EEERE T4—EIL 6,600 60 300 Bl 1
EEERE T14—EI 6,600 50/60 300 Bl 7
EEERE T4—EI 6,600 60 200 BXih 4
BEER T4—EIL 6,600 50/60 500 BXih 8
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1.

RERH

1. 2 BEEERE
% £ 1
No B Ehatt RENH THRET | ER T A REH
V) (H2) (kVA)
1| BEERE | dtEE T14—EIL 210/105 50 75 B 16
2 | BEER=E Rit T14—EIL 210/105 50 75 L2 3:] 12
3 | BEER=E 4 T14—EIL 210/105 50/60 75 L2 3: 51
4 | EEER=E 4 T14—EIL 210/105 50/60 13 L2 3: 7
5 | EEERE RE T14—EIL 210/105 50/60 75 L2 3: 71
6 | EEERE RE T14—EIL 210/105 50 75 L2 3:] 30
7 | BEEERE JbpE T14—EIL 210/105 60 60 L2 3:] 24
8 | BEEER=E JbpE T14—EIL 210/105 50/60 75 L2 3:] 13
9 | BEEER=E ] T14—EIL 210 50/60 75 L2 3:] 4
10 | EEERE HE T14—EIL 210/105 50/60 75 L2 3:] 51
1| EEERE HE T14—EIL 210/105 60 75 L2 3: 11
12 | BEEERE PO ] T14—EIL 210/105 60 75 L2 3: 25
13 | EEERE PO ] T14—EIL 210/105 50/60 75 L2 3:] 23
14 | BEEERE o T14—EIL 210/105 60 75 L2 3:] 56
15 | EEERE o T14—EIL 210/105 60 100 L2 3:] 17
16 | EEERE bk T14—EIL 210/105 60 75 L2 3:] 3
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2. EEBRIM

2. 1 SEBRE
iz s
No & B BEhsu [RENH TRET B 8 RS A REH
V) (Hz) (KVA) R
1 mEERE dtiEE 92’;/ 6,600 50 4000 T 3t ]
2 | BETRE i ﬂ@, 6,600 50 2000 KTiH-AEH 1
3| BERRE | AEE gf’é\/ 6,600 50 2000 Pp:: 4
4| BERR= Rt T4—EIL 6,600 50/60 1000 i 5
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2. EERMH

2. 2 REAGKES

a - s EREE ERER BB REH
NO AR E Ejj %*i nﬁﬁ% (kV) (AE)E o (HZ) ><
ﬁgg%g - g 1,200 50
Y T B 2 SRIEEL
1 | e AR | dtiEE b Sof 18
p oo 72 1,200
ﬂgggﬁg 72 1,200 50/60
R 25 72 1,200 50/60
2 | B FARFR b4 i 72 50760 64
Iy 72 1,200
ﬂgggﬁg 72 800 50
- by % 28 72 800 50
3 | B FARFRS iR i 72 =5 8
p oo 72 800
ﬂigg%% _Qﬁ&gé 800/1,200,/2,000 60
) B iR 2 SRIEEL
4 @Eﬂﬁﬁﬁﬁﬁﬁ%& E‘F‘CIB ?ﬁi‘m%ﬁ EQ{%%L/ 50
oo 84 800/1,200/2,000
ﬂigg%% 84 2,000 60
B R 25 84 2,000 60
5 | BB FARFE bd 25 i a4 60 16
p oo 84 2,000
ﬂigg%% 84 1,200 60
R 25 84 1,200 60
6 |BBEREMS| BE Shig 84 60 0
oo 84 1,200
ﬂigg%% 72 2,000 60
B R 25 72 2,000 60
7 | BEN AR FE i 72 60 5
p oo 72 2,000
ﬁé&g%% - Zmz 800 60
)r E:ﬁ %g E 7 L/
§ | BEIMFMS E LR L 7
p oo 72 800
ﬁé&g%% - g 1,200 60
WM &'ﬁ %g E ﬁm\l./
9 | B FARFS JL e Sopmam 22
p oo 72 1,200
ﬂigg%% 72 1,200 60
: B2 72 1,200 60
10 | BENFARARASS k) i 72 60 5
p oo 80.5 1,200
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2 EERM
2. 3 BBRALEESHF
Vo | mE | mnsa | TURE | REER O FESE) BRSO R
z) X

| mmmzES| dmw | 500 | 1R85 10 50 18
2 |BBRZES| =i 125; :6677550000 2155 11 I 20 50 40
3 |mmmzEs| mm | SN0 TS 50 14
4 | BBREES| 5 125; :76?'725500 1 55 ; f’gg L 10 60 45
5 |BBRZES| ik 125; :76%20500 2155 11 o 15 60 3
6 |BEREER| BEH 125; :76‘%88 ' 1255% 9 10 60 1
1 |pomzES| em | SN0 KBS g 60 8
8 |BPAZEE| nmE 125; :66‘;50000 1255% 9 10 60 3
o | BEBALER| A 12% :66%00000 2155 11251 s 15 60 27
0 i : 1%:66,000 | 12%:65.
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